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Part A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

1- He is a woman of ------mmvx who has never abandoned his principles for the sake of making
money.
1) utility 2) integrity 3) treaty 4) acrimony

2- The loud sound of the radiator as it released steam became an increasingly annoying
1) interval 2) perception 3) zenith 4y distraction

3- Jackson’s poor typing skills were a -----—--- to finding employment at the nearby office
complex.
1) hindrance 2) supplement 3) confirmation 4y versatility

4- The judge dismissed the extraneous evidence because it was not ---------- to the trial.
1) obedient 2) treacherous 3) pertinent 4) vulnerable

5- Because biology is such a -------—- subject, it is subdivided into separate branches for
convenience of study.
1) deficient 2) consistent 3) broad 4) mutual

6- In addition, physicians may have difficulty in deciding that an illness can be ----------
the job. Many industrial diseases mimic sickness from other causes.

1) attributed to 2) precluded from 3) refrained from 4) exposed to
7- Mechanics was one of the most highly developed sciences ---------- in the Middle Ages.
1) extracted 2) persisted 5) resolved 4) pursued
8- In the absence of death from other causes, all members of a population may exist in
their environment until the ---------- of senescence, which will cause a decline in the
ability of individuals to survive.
1) ratio 2) onset Z) core 4) output
9- Before the invention and diffusion of writing, translation was -—----—-- and oral; persons
professionally specializing in such work were called interpreters.
1) subsequent 2) unilateral Z) eventual 4) instantaneous
10-Public attitudes toward business regulation are somewhat ---------- ; most people resent

intrusive government rules, yet they expect government to prevent businesses from
defrauding or endangering them.
1) cogent 2) emotional 3) ambiguous 4) indifferent

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best tits
each space. Then mark the correct choice on your answer sheet.

The variety of successtul dietary strategies (11) ---------- by traditionally living populations
provides an important perspective on the ongoing debate about how high-protein, low-
carbohydrate regimens such as the Atkins diel compare with (12) ==-n----- underscore complex
carbohydrates and fat restriction. The fact that both these schemes produce weight loss is not
surprising, (13) ----=mn-- both help people shed pounds through the same basic mechanism:
(14) ----==---- major sources of calories. When you create an energy deficit —that is. when you
consume fewer calories (15) ---------- —your body begins burning its fat stores and you lose
weight.

11- 1) employed 2) are employed 3) is employed 4) then employed

12- 1) those that 2) the ones they 3) that which 4) they

13- 1) in fact 2) although 3) likewise 4) because

14- 1) limit 2) limiting 3) which limit 4) with limiting

15- 1) are expended 2) that they are expended

3) than you expend 4) to expend
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PART C: Reading Comprehension

Directions: Read the following four passages and answer the questions by

choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on
Your answer sheet.

17-

18-

19-

Passage 1:

Accidents are the direct results of unsafe activities and conditions, both of which can be
controlled by management. Management is responsible for the creation and maintenance of the
working environment and tasks, into which workers must fit and inter-react. Control of
workers and their behaviour is more difficult. They have to be given information, and the
knowledge that accidents are not inevitable but are caused. They need training to develop skills
and recognise the need to comply with. and develop safe systems of work, and to report and
correct unsafe conditions and practices. Their safety awareness and attitudes require constant
improvement, and the social environment of the workplace-the safety climate - must be one
which fosters good safety and health practices and conditions, not one which discourages them.

On investigation, and after a little thought; it can be seen that accidents are relatively
complex events. A man falls off a ladder. It seems straightforward -thc ladder was not tied and
witnesses say that it was set at the wrong angle and not secured against slipping. This incident
could be put down to carelessness on the part of the man, having failed, to appreciate the
physical situation. Carelessness, though, is rarely either a good or an adequate explanation of
events like accidents.

Unsafe acts and unsafe conditions are often referred to as immediate or primary causes of
accidents, because they are the most obvious causes and because they are usually directly
involved or present at the moment the accident happens. Secondary causes are also important,
although they are usually harder to seek out and identify. They are the failures of the manage-
ment system to anticipate, and include lack of training; maintenance, adequate Job planning
and instruction, and not having safe systems of work in place.

you can infer from the text that managers should ---------- .

1) recognize and report unsafe activities and conditions

2) control not only unsafe activities but unsafe conditions as well

3) put down the incidents to carelessness on the part of employees

4) supervise all the workers and their behaviors which can cause accidents

Based on the text, ---------—--- .

1) It is easy to control workers and their behaviors

2) failuirs of the management system are refered to asprimary causes of accidents

3) the social environment of the work place must encourage safety and health practices
4) an accident such as falling a man off a ladder could be put down to his carelessness
It is true that -----~----=--- .

1) the workers, not the managers, develop a safety climate

2) unsafe acts and conditions are indirect causes of accidents

3) complying with safety regulations is not necessary

4) accidents happen due to some reasons; however, they can be avoided

According to the text, which one is not correct?

1) Immediate causes of accidents are visible

2) A safe system of work should be developed at the workplace

3) Having no clear instruction at the workplace may cause accidents accidents

4) Lack of training programs at the company is an example of primary causes of accidents
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Passage 2:

Most common metals exist in naturz chemically combined with other elements as
various oxides (ores). Examples include iron ores, from which metallic iron is extracted, and
bauxite, from which aluminum is derived.These ores are mined and refined by various
processes to extract the metallic components that in turn become the common familiar metals.
There is a natural tendency for many refined metals to revert to their natural state after the
metallic component has been extracted. Because both air and water are common service
environments for many metals and because oxygen is a large percentage of both, many metals
react with the oxygen present to revert in verying degrees to their original oxide (ore) state.
Iron is a good example. Existing in nature as an oxide (iron oxide, e.g., Fe;03), the metallic
element iron is chemically combined with oxygen. The refining process separates the metallic
iron from the oxygen and from then on, if the iron is used in the presence of oxygen, it is a
struggle to keep it from turning back into iron oxide. This process, a slow oxidation of the iron,
is known as rusting. In the case of iron and steel, the layer of rust (iron oxide) does not adhere
to the metal surface but flakes off, exposing the surface to further rusting. Metals such as
aluminum and chromium, however, form adherent oxides and are thus protected. The
chromium present in stainless steels provides his protection and is discussed shortly. (Gold, on
the other hand, does not readily react with oxygen at all and is therefore found in nature in its
pure form.)

It is understood from the text that when metals combine chemically with some other
elements in nature, they come out to be ----------- .
1) ores 2) bauxite 3) metallic iron 4) metallic components

From the text, it can be understood that various processes such as mining and refining,
are carried out to ----------- the metallic components.
1) achieve 2) derive 3) extract 4) revert

From the text, it can be understood that reversion of many refined metals to their
original oxide state is brought about by --—-------- .
1) environment 2) hydrogen 3) oxidation 4) oxygen

From the text, it is understood that in the case of iron and steel, the more the layer of rust

flakes off, the more the surface of the metal ----------- to further oxidation.
1) exposed 2) imposed 3) inclined 4) susceptible
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Passage 3:

Faced with explosive economic growth, China's energy demands have soared, forcing it
to become a net importer of oil. In 2004, China became the world's second largest importer of
oil, beating out Japan, which had been second. Current trends indicate that oil imports will
make up 40% of China's total consumption by 2010. China has tried to bring its domestic cost
of gasoline more in line with oil costs on the world market. As a result, gasoline prices
increased steadily during the early 2000s. Attempting to limit its dependence on oil imports,
the Chinese government wants to develop domestic oil sources and to substitute other fuels for
oil. Thus far, China's oil supplies have proved less than promising, and coal is the only major
alternative fuel under production.

With its fossil fuel consumption-and the accompanying greenhouse gas emissions_so
steadily on the rise, China dominates international concerns over global climate warming. In
the early 2000s, China's per capita motor vehicle ownership was low, and buses and other
forms of mass transit were the most widely used types of transportation. Because of projected
increases in motor vehicle ownership in coming decades, China's 2025 projected carbon
dioxide emissions are 3.2 billion tons per year, compared with current global carbon dioxide
emissions of 6.15 billion tons per year. China can justify its increased energy consumption and
emissions as products of fair economic development. For example, China's projected
ownership of motor vehicles in 2020 is only 52 vehicles per 1000 people, which is about one-
fifieenth what the U.S. level was in 2000.

which of the following sentences is NOT true according to the passage?
1) China is defeating Japan in oil industry.

2) China’ s need for energy has enormously increased.

3) China’s development may be a threat to global climate.

4) The China’s government is trying to limit its dependence.

The 2™ paragraph primarily deals with -----—---- .

1) the rate of pollution in China

2) the problems China has to solve

3) how China’s economic development cannot be fair

4) how China tries to in crease the rate of motor vehicle ownership

According to the passage, China ------------ .
1) is not promising a fair development

2) is not producing oil as much as Japan

3) does not have sufficient oil resources

4) does not have an independent government

A suitable title for the passage would be:

1) Energy for China 2) pollution in China
3) China in the 21* century 4) China and Global warming
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Passage 4:

Paint stripping is the process of removing paint and paint-type coatings from surfaces,
usually’ as a preparation for inspection, dismantling, repairing, or repainting. In paint stripping,
solvents and/or solvent-chemical mixtures are applied to the surface to physically destroy
either the paint coating itself or the paint's ability to stick to the surface. When this process is
complete, the paint/solvent residue is removed from the surface, usually by pressurized water
wash and/or scraping. In many instances, the solvent stripper must be reapplied to remove
multiple paint coats and particularly resistant paints.The wastes generated in the stripping
process are a significant source of pollutants. These wastes include the solvent/paint residue,
which can be collected separately, and the waste wash water, which contains solids and
dissolved chemicals from paints and solvents. Collected solvent/paint residues are normally put
in drums and transported to a licensed hazardous waste disposal site. The waste wash water
requires treatment in an industrial wastewater treatment plant to remove the paint stripping
solvents (usually phenolic or methylene chloride based) and metals picked up from the paint.
Strip baths are also used to remove paint from components. In this method, components are
immersed in tanks of stripping solvent. After the solvent dissolves the paint, the stripped parts
are removed from the tank and washed with water. The stripping baths are replaced
periodically, generally once or twice a year The hazardous waste solvent/paint liquid and
sludge from the bath are then disposed of at a hazardous waste disposal site. The wash water is
discharged to an industrial waste treatment plant.

The parts and pieces of a machine or structure should be separated before paint
stripping. This process refers to ----------—- .
1) disposing 2) dismantling 3) repairing 4) scrapping

For stripping surfaces with resistant paints, ------------ must be applied ------------ .
1) the solvent - again

2) the immersion technique — periodically

3) the treatment process — once or twice a year

4) the water washing technique - immediately

One of the functions of the solvents is to ---=-m------ the sticking property of the paints.
1) treat 2) repair 3) repaint 4) disable
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